Section 5-5:  Direct Variation Make a scatter plot of the data in the table.

Direct Variation is a special Linear Function. d
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Graph of direct variation

e The graph must be alline|that
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N B[ ;| @




Does each table of values represent
a Direct Variation relationship?
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Direct Variation Equations:

Is each equation direct variation?

If yes, find the variation constant.
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Does each graph represent a Direct
Variation relationship?
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Given the table shows a direct variation relationship,

find the value of ?.
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1. Use this table to write a Direct VVariation Remember the phrase: "y varies directly with X"

equation. M__ (a \ \ -6\
= G, Y=y i
XY oV~ 2 ? The amount of water in the tub varies directly
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a direct variation relationship.

workers in the factory. X
When there are 120 workers on the job 710
270 air conditioners are manufactured. T2a % - Write an equation for this Direct V.
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